[image: ]Problem SolvingIndie = 6kg 
Bonnie = 6 kg 
6kg + 6kg = 12kg     this does not work as 12 is less than 15.

Indie = 10kg 
Bonnie = 8kg 
10kg + 8 kg = 18kg.   This works
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Indie = 9kg
Scrappy = 7kg 
Bonnie – 11kg
9 + 7 + 11 = 27kg but Scrappy should be heavier than Bonnie so this is incorrect.

Indie = 9kg 
Scrappy = 11kg 
Bonnie = 7kg 
9 + 11 + 7 = 27kg  Scrappy is heavier than Bonnie and Indie is 9kg so this is correct











Your questions are on the next page
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They are called Indie and Bonnie

Indie and Bonnie weigh more than
185kq but Less than 23kq together.

Each doq weighs more thain Skq.
What can each dog weigh?
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Ray has 3 dogs.

They are called Indie, Scrappy and
Y d i)

They weigh 27kq altogether
Indie weighs 9kg

seray p s weight is heavier than Bonnie’s

Whatt is the weight of Scrappy and Bonnie?
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Ray has 3 dogs.

They are called Tndie, Scrappy and
Bonhie.

Indie and Scrappy weigh 13kg together.

Indie’s weight is an odd single digit
greater than 5.

Scrappy’s weight is an even single digit
greal f? than 5.

They weigh 22k altogether.
What is the weight of each dog?
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Ray has 3 dogs.

They are called Indie, Scrappy and
Bownhie.,

Indie and Scrappy weigh 10kq together
Scrappy and Bonnie weigh kg together
Indie and Bonnie weigh just Skg together

What is the weight of each dog?




